t78 rewrite3 (TM-
PaW JpibqZhR84BoYuA4UdHrYxP1m7AyTH)

October 27, 2020

Let vl_zboole 0 : =0 be given. Let ml_subset_1 : t=>t=-0 be given. Let
k8_afinsq_1l : 1= be given. Let k1_zfmisc_1 : 1= be given. Let v2_struct0 :
t=>0 be given. Let [1_rewrite3 : t=>1=-0 be given. Let rl_rewritel : :=1=1=-0
be given. Let kl_rewrited : t:=1=1=- be given. Let k4_tarski : t=1=1 be
given. Let k2_flang_1 : 1= be given. Let k10_ztuple 0 : 1= be given.
Let k9_xtuple 0 : 1=t be given. Let ul_rewrited : t=1=>1 be given. Let
rl_zzreal 0 : t=1=-0 be given. Let kl_afinsq_1 : 1= be given. Assume the
following.

VX0.VX1VX2.(—wl_zboole 0 X2)=(VX3.

(ml_subset-1 X3 (k8.afinsq-1 X2))=(VX4.(ml_subset_-1 X4
(k8-afinsq-1 X2))=(VX5.(ml_subset_.1 X5 (kl_zfmisc_1 (
k8 afinsg-1 X2)))=(VX6.((—v2_struct_0 X6)A(I1_rewrite3

X6 X5))=(—(—-k2_flang-1 X2 € k10_ztuple0 (k9_ztuple 0 (ul_rewrite3
X5 X6))A((rlrewritel (kl_rewrite3 X2 X5 X6) (kd_tarski X0 X3)
(kd_tarski X1 X4))A((rl_zzreal 0 (kl_afinsg-l X3) (kl_afinsqg-1
XAPA(X0 = X1)A(X3 = X4)))))

Assume the following.

VX0.VX1VX2.(—wl_zboole 0 X2)=(VX3.
(ml_subset-1 X3 (k8_afinsq-l X2))=(VX4.(ml_subset_.1 X4
(k8-afinsq-1 X2))=(VX5.(ml_subset_.1 X5 (kl_zfmisc_1 (
k8_afinsq-1 X2)))=(VX6.((—v2_struct_0 X6)A(I1_rewrite3
X6 X5))=((rl-rewritel (kl-rewrite3 X2 X5 X6) (kd-tarski X0 X3) (
kd_tarski X1 X4))=(rl_zzreal 0 (kl_afinsqg-1 X4) (kl_afinsq-1

X3)))))) o)



Theorem 1

VX0.VX1.VX2.(—wl_zboole 0 X2)=(VX3.

(ml_subset.1 X3 (k8_afinsq1 X2))=(VX4.(ml_subset_.1 X4
(k1_zfmisc1 (k8_afinsq-1 X2)))=(VX5.((-v2_struct0
X5)A(I1rewrite3 X5 X4))=((rlrewritel (kl-rewrite3 X2 X4 X5)
(kd_tarski X0 X3) (kd-tarski X1 X3))=((k2_flang-1 X2 € k10_ztuple_0
(k9_ztuple 0 (ul_rewrited3 X4 X5)))vV(X0 = X1))))))



